No. of Printed Pages : 4

1152

EE3001 ’ RollNo; & iovvassinsissisvions
Nov. 2023
INTRODUCTION TO ELECTRIC GENERATION SYSTEMS
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e () YHFAATIFATC gt/

Note : There are three sections A, B and C in the paper.

(i) QT T T F97 G&IT 1 & G 10 9771 & IR ST | Y% 97T U 3% F7 8 v
&y 10 97T F&GAT IR & I971 35 8

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) T & & 8 Iv71 § G [F6T 6 Fo71 & I AT | Ied%b Y94 3 b &1 & 0q
35 TTE/50 g1 7 I GG /|

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) Q¥ & F 6 3971 7 @ 5T 4 5979 & IR T | 9% F97 8 3k %7 8 €q
57T 15 /150 5g] 7 377 SIore |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) ¥A% I F T F9H] Bl HHTR T G1Y §T Bilord |

Solve all the questions of a section consecutively together.

(vi) @ ST F S1r 517 1 IRUT 7 A e F A 8

Only English version is valid in case of difference in both the languages.

WM -
; SECTION - A
1. (i) iaerR % gers ol S 916t ST &1 pH WH gt 8

(@ 1 | (b) 79 TS A®
© 7 (@ 10

The value of pH of water supplied to Boiler is

(@ 1 (b) little more than 7
() 7 (d 10
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| 2 of 4) |
Tiftrehier foagrer & =ygi <6t TR S Y B e v &
(a) WX (b) TR
(c) Yitaetsh (d) 3fes
The material used to slow down the speed of neutron in Nuclear Reactor is
(a) Moderator (b) Reactor
(¢c) Coolant (d) Shield
= o o fore e Yyl e (capital cost) STfrhad g ?
(a) (TR TR AT (b) et UTeR wiie
(c)  SISTeT UTeR Wiie (d) Swiw d | IS T
The initial cost of which plant has maximum capital cost ?
(a) Nuclear Power Plant (b) Thermal Power Plant
(c) Diesel Power Plant (d) None of the above
aToq VifeRT T Shl & el @
(a) 38% (b) 28%
() 40% , (d) 45%
The efficiency of a steam power stationis
(a) 38% (b) 28%
(c) 40% @ 45%
T U1 BT 8
(a) THAHH (b) T IRH
c) T (d) I H | HIE TG
Demand factor is
(a) less than one (b) more than one
(c) one f (d) None of the above
Rrar ferga WK (maximum load) TwTE A =g TG SfeRT g BT 8
(a) ITTER WX &g (b) BrEt R FF
(c) =¥ R bR (d) ST § | HIS T
To supply maximum peak load, the installed power centre is
(a) Base load plant (b) Peak load plant
(c) High head load plant (d) None of the above
T ST ot Risrelt See e sTaRi WA R 7
(a) 60Hz (b) 50Hz
(c) 55Hz (d) 45Hz
At what frequency is electric power normally generated in India ?
() 60Hz (b) 50Hz

(¢) 55Hz - ~ (d) 45Hz
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(viii) Torelt wfereT 3 YR Ta aw o weA S T Sk

(a) WRH (b) S=a9 AT aH

(© ()9 (b)aH (d) S B HE TG

The curve between load and time of any industry is

(a) Load curve (b) Maximum demand curve

(¢) Both (a) & (b) (d) None of the above

TRA o T st ardi e SR HE | ?

(a) I  (b) Gl

(c) TEL (d) et

Where is the largest Thermal Power Plant in India ?

- (a) Kota (b) Sarni

(¢) Chandrapur ~ (d) Neyveli
(x) fpg vife 9 o1 UREe T Gea B 7 ?
 (a) TR UERE Y (b)) TR IR W

(c) U IR W (d) S IR =R

Which power plant has least transport cost ?

(a) Hydro Power Plant (b) Nuclear Power Plant

(¢) Thermal Power Plant (d) Diesel Power Plant (1x10)

aH —
SECTION - B

Y SEET HT RTHR B ?

What is the function of Steam Turbine ? A3

3. IETEA % (A= FehR ST |
Write the different types of turbine. A3

4 ol i w3 T SR A % A e |

Write names of four important parts of Thermal Power Plant. A3

5. grESieS & 3TY FT A B ?
What do you understand by Hydrology ? 3

6. et frggd et Wi % A Srse |
Write advantages of Hydro Power Plant. A3

P.T.O.
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7.

10.

11.

12:

13,

14.

15.

Sl W 5k I GUETRT |

Explain Energy load curve.

HIT 101 A 319 AT A &Y ?

What do you mean by Demand factor ?

HA FfrRT STaer e Tt Afereht siTeR 7@ 3R Tar |

Give the main differences between fire tube boiler and water tube boiler.

JBH - &
SECTION - C
R A 56 IR Hietshiieh ST 936 i R ) FgmEar @ Gusisy |

Explain load duration curve and chronological load curves with diagram.

viferT TR 9T MY MR 31 RIER ¥R ) a9zms |

Explain base load and peak load on power station.

it fergge ekt 718 % 7 arawal w1 T e feeft vk tea w1 avk o |
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Write the name of main components of Hydroelectric Power House and describe any

one of the component.
TS TR YTeR 1 i TfT awsms |
Explain pumped storage power plant with diagram.

T AT F % GUS STRG T T L, |

Describe Block diagram of Thermal Power Plant.

(2) A wfe @97 & foT e %1 5

(b) el 35 wd Yt

(c) TG WR S 31Rreram gt

Write short notes of any two :

(a) Site selection for Thermal Power Plant

(b) Surge tank and penstock
(¢) Connected load and maximum demand
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